3E

YELOSHE

B

\/ —t
Y 7

,/(\ .{\ ’

Hydraulic Piston Pump

V Series

Efficient Performance
Innovative Technology

Reliable Quality and
Service

YEOSHE HYDRAULICS CO.,LTD.



P

V Axial piston pump

V Series axial piston pump

nominal(rated) pressure: 175 bar
max. pressure:250 bar / 6ms

1.V Series pump,new design for changeable angle of swash
plate,wide applications.
2.Special design,low noise level during full pressure time.
3.Modular control,easy to design system,adventages

are:power saving,small size,low cost.
4 Low power comsuming,low oil temperature rising,suitable
application for assembling small power units.

LF] 1000 ms = 1 sec.
Specifications
Displacement at (7 bar ) 100 PSI Pressure Adj. Speed Weight
Size | Model | 5 =\ . 1500 RPM 1800 RPM T Max. | Min. KG
LPM US.GPM| LPM US.GPM RPM | RPM  (LB)

V8 | 80 048 120 317 144 38 13 (28.6)
V10 | 100 061 150 3.90 180 476 13 (28.6)

1 vi2 | 120 073 180 476 216 573 13 (28.8)
V15 | 150 090 225 578 270 7.05 1:8~70 13 (28.6)

2: 15~140
vig | 178 1.09 267 7.5 320 845 13 (28.6)
3. 20~210 1800 500 ———

V23 | 230 140 354 9.11 414 1094 : 22 (48.4)

2 . 4:20~250
V25 | 250 152 375 966 & 450 11.60 22 (48.4)

5 | V38 378 231 567 1498 680 17.96 | 26 (57.2)
V42 | 420 256 630 1623 760 1958 26 (57.2)
V50 | 515 314 | 77.2 2037 @ 927 2448 1: 8~70 56 (123.2)

& - 2:15~140 |
V70 | 69.7 425 1045 27.6 & 1254 33.10 3 20~210 56 (123.2)

1.Install outlet on top,the pipe pressure needs less than 2bar.
2.Using at max.pressure,please undre 6 sec for per-cycle time.
3.Hydraulic oil clean,please following YEOSHE instruction maunal.
4 YEOSHE supply combinable pumps with different series,standard with Metric / SAE size.

dwnd uoisid [eixy A ﬂ

www yeoshehydraulic.com



Type code for standard program d}?

visjaladrl | B | | | | | |
1 2 3 4 5 6 Z 8 9 10 1 13 14

12
Series  Size and Control  Pressure Rotation Direction of Shaft type Voltage Threads Thrudive & Special Mounting Seals Design No.
displacement device  adjusting gf;mms type ndpump  spec,
Series
Axial piston pump nominal pressure: 175 bar
1 variable displacement high max. pressure:280 bar / 6ms V
pressure version 1000 ms = 1 sec.

Size and displacement

Code 8 10 12 15 18 23 25 38 42 50 70
, Size 1 2 3 4

cm’/ rev 8 10 12 15 18 23.0 25.0 37.8 420 515 69.7

Displacement
P In’/ rev 048 061 073 090 1.1 140 152 231 256 3.14 425

dwnd uojsid |eixy A u

Control device

Standard pressure control A #
Remote pressure control G
Pressure
A (Al Low : 7TKG
Load-sensing control B Mid : 14KG HLL]
Cl High : 21KG
Muti-stage flow & Singe-stage pressure control (with cylinder) B
2-stage pressure & Flow control &
2-stage pressure & Flow control + Remote CG
2-stage pressure & Flow control + Low tension unloading CR
Low tension unloading + Pressure control D
Low tension unloading + Pressure control + Remote DG
Electric 2-stage pressure control E
Electric 2-stage pressure control + Remote EG
3 Electric 2-stage pressure control & Flow control F
Electric 2-stage pressure control & Flow control + Remote FG
Remote pressure compensator with NG6 interface GM
Remote pressure compensator + Proportional pressure valve GJ
Remote pressure compensator + Electrical unloading GR
Remote pressure compensator + 2-stage pressure control GB
Remote pressure compensator + Electrical unloading + 2-stage pressure control GC
Pressure
Load-sensing compensator Al Low : 7KG
+ Proportional flow valve '_' o HQL
+ Relief valve Bl Mid : 14KG
Cl High : 21KG
Pressure
Load-sensing compensator [Al Low : 7KG HK ]
+ Proport!onal pressure valve B] Mid © 14KG
+ Proportional flow valve —
C| High : 21KG
m = available - = onrequest : = standard type = custom made

www .yeoshehydraulic.com



YEOSHE
vlslalodel LB | ] | 0 | | |

Series Sizeand  Control Pressure Rotation Direction of Shaﬁtype Voltage Threads Thndive & Special Mounting  Seals Design No.

displacement davice  adjusting pipe type Indpump  spec.
connechons

Type code for standard program

Pressure adjusting
8~70 bar (0.8~6.9 Mpa)
15~140 bar (1.5~13.7 Mpa)
20~210 bar (2.0~20.6 Mpa)
20~250 bar (2.0~24.5 Mpa )

= W N e

Rotation
7 Clockwise R
(. Counter clockwise L

dwnd uoisid [eixy A ﬂ

Direction of pipe connections L —
None: Side port (Flange) "= = = = ®m ® = = = = = P
5 Rear port (Flange) sl -l |=-|m|m|m|m|mn|m B
Side port + Rear port (Flange) - -l= === m|®m| | m|=]-= B2
Shaft type
Displacement Code
None Key:
V15,v18 Splind shaft: 13T 16/32 DP  S1 9T 16/32 DP S2 11T 16/32 DP
V23,V25 Splind shaft: 13T 16/32 DP £ S1 15T 16/32 DP 4 S3 13T 16/32 DP longer

S
S

V38,42 Splind shaft: S 13T 16/32 DP S1 15T 16/32DP  S3 13T 16/32 DP longer
S

V50,V70 Splind shaft: 14T 12/24 DP & 81 17T 12/24 DP
Voltage
None
AC100V (50/60HZ) A
AC110V (60HZ) B
g AC220V (50/60HZ) (&
AC220V (60HZ) D
DC 12V E
DC 24V F b4
m = available - = onrequest % = standard type = custom made

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Type code for standard program ds?

visjaladel | B | | | | | |
1 2 3 4 5 6 7 8 9 10 1 13 14

12
Sefies  Size and Control  Pressure Rotation Direction of Shaft type Voltage Threads Thrudive & Special Mounting  Seals  Design No.
displacement device  adjusting :;1;‘ o type ndpump  gpee,
Threads
PT (RC) ] @ [ ] ] u [ ] [ ] = [ = 10 S
BSPP (G) o =] = ] = ] ] ] @ = m 40 W
9 NPT A - NEYE s | [50
UNF (SAE o-ring) m " ®E ® ® ® ® =®m | ®m ®m = 60
Metric : : : ' 70

Thre drive & 2nd pump
without thru drive

dwnd uojsid |eixy A u

@50.8 mm SAE AA C
& 82.55 mm SAE A D
21016 mm SAEB E
0 @127 mm F
< 63 mm I
2 80 mm J
2100 mm K
@125 mm L

: . " (Plesae contact YEOSHE,if other size required.)
Special specification

Standard type X |
11 Low Pressure type X1
Deahead pressure relief type Z
Mounting
i Only for V15, V18 can select "A", None : Standard #
other displacement only select "None:Standard" SAE A 2 bolt A
Seals
- NBR %
VITON A
m = available - = onrequest : = standard type /. = custom made

www .yeoshehydraulic.com




\V/ Series

Control type

YEOSHE

Controls

Atype:
Standard pressure
control

Characteristic

Specifications

1.When system pressure increase and reach
present pressure the flow decrease automatically
and pressure to be constant.

2.Pressure and flow can be adjusted manually.

G type:
Remote pressure
control

1.The same function of “A’contral type.
2.Pressure can be adjusted remotely by the remote
control valve.

HL type 1.HL valve with 2 different pressure,control displace-
. ment .
Load-sensmg 2.The flow can be changed by HL valve the sensing
control feedback can reach low oil temperature and energy
saving.
B type: 1.Flow can be adjusted from 0 to maximum and
4 pressure can be maintaining at preset pressure.
MUt"Stage flow 2.Absorbing impact and vibration which are
& Slnge-stage produced by up down motions .

pressure control
(with cylinder)

It is suitable for lifting equipment etc.

C type:
2-stage pressure
& Flow control

1.2-stage pressure to adjust PL to QH and : PH to
QL.

2 When pressure increase and reach preset
pressure“PH" flow is reduced to"QL".

3.Adapt for long dead head and short pressurizing
machines,speedy and energy saving.

4.Pressure "PH"'PL",and flow "QH™QL"can be
adjusted optionally.

CG type:
2-stage pressure
& Flow control

+ Remote

OH

oL

i |
=

1.The same function of “C" control type.

2.The pressure and the range can be adjusted by
remote control valve.

3.Install YEOSHE solenoid control valve to reach
good performance.

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



dwnd uojsid |eixy A u

www .yeoshehydraulic.com

Control type

Controls

Characteristic

Specifications

CR type:
2-stage pressure
& Flow control

+ Low tension

1.Insall YEOSHE sclenoid valve,control 2-stage
pressure.

2.1t is suitable for constant speed lifting
equipments,and setting 2-stage working pressure.
3.PL and PH two opptions can be PH.

unloading SOL OFF: Low tension unloading
SOL OFF: 2-stage pressure&flow
. .Same as type A and with low tension unloading.
ype: 1.5 t A and with | i loadi
s 2.1t is adapt for long unloading operation.
Low tepSIOH colotr EolloN 3.When the system stops,oil temperature and noise
unloading maintain low level while being through the
+ Pressure control HpoRdig,
P e
DG type: 1.The same function of "D” control type.
. 2.The pressure and the range can be adjusted by
Low teps:on 'i % remote control valve.
unloading | SOLOFF  SOLON 3.Install YEOSHE solenoid control valve to reach
|
+ Pressure control ! 2|, | Hem parirmacs,
+ Remote }
' p—» PH
E type: T 1.2-stage pressure is controlled by solenoid control
: valve.
Electric 2-stage ol wal s 2.Adapt for constant speed Iifting equipments, and
pressure control setting 2-stage working pressure.
3.PL and PH two options can be PH.
PL PH
P e
EG type : ‘” i __I - ;_—| 1|. 1.The same function of "E"control type.
i i ol I = 2.The pressure and the range can be adjusted by
Electric 2 stage el ‘ Q sorore| soLon remote control vavle.
pressure control ‘ = i 3.Install YEOSHE solenoid control valve to reach
+ Remote [ l-“’*.— el « |— | good performance.
‘ ‘@ﬂ&' Is -
o |
I l__é J PL PH
. P—
F type: o SOL OFF 1.Electric 2-stage pressure & flow control to adjust
; PL to QH,PH to QL.
Electric 2 Stage SOLON 2. Pressure “PL", “PH" and flow “QH" can be

pressure control
& Flow control

aL

PL

FH

adjusted optionally.




Control type

YEOSHE

Controls Symbol Characteristic Specifications
FG type - ) 1.Electric 2-stage pressure & flow control to adjust
4 i T PL to QH,PH to QL.
| L1 3
Electric 2'Stage ‘ T ‘ A g S2LOFF 2.Pressure can be adjustd by remote control valve.
pressure control = . 7 | 3.Pressure "PL", “PH" and flow “QH" can be
& Flow control ‘ =g ‘ Qo L soto¢ | adjusted optionally.
i |
+ Remote | b= | it
‘ I g" r PL PH
| | v pP—
e gy
GM type: 1.GM Remote pressure compensator with NG6

Remote pressure
compensator with
NG6 interface

interface.
2.Speedy reactions,stable pressure supply.
3.Adapt for manual or electric control,

GJ type:

Remote pressure

compensator

+ Proportional
pressure valve

1.Same as type "GM" and with proportional
pressure valve.

2.The proportional valve is installed on the NG6
interface to reach proportional electric control to
save energy.

GR type: 1.By adding a relief valve and solenoid control
R I valve on the compensator makes pump have both
€emaoie pressure function.
compensator 2.GR control is for long unloading situations.
+ Electrical Wh_en t_he system sto[:-s. oii‘ temperature and noise
] maintain low level while being through the
Un|03dmg unloading.
L
L 3= Indudad
GB type: 02-263 1.By adding a relief valve and solenoid control
R t el valve on the compensator makes pump have both
emole pressure s 13 . function.
compensator E3i T "g";-:):;__ 1%%'; 2.GB control is for Z-stage working pressure under
+ 2-stage pressure F Q the constant cylinder speed.
control “‘ﬁ‘
:: P: i PL PH)
] ATl ——
Select PL or PH to be high pressure
=3 Induded

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



dwnd uojsid |eixy A u

www .yeoshehydraulic.com

Control type

Controls Symbol Characteristic Specifications
GC type: iEEE | . . 1.Control two different-stage limited pressure by
I soL| soOL adding solenoid valve and unloading function,
Remote pressure T I "OFF"| "ON" 2 When the system stops,oil temperature and noise
compensator o | Q I maintain low level by unloading function.
+ Electrical | 3.Adapt for stable cylindef spe_ecl.Zl—stage
iEEHI — I pressure,and long unloading situation.
g 1% ! PL EH|
+ 2-stage pressure P—=

control

J

E130= Included

Select PL or PH to be high pressure

HQ type: 1.HQ control with load-sensing and proportional
L dyp . | ?Thzé 5 T flow control.

oad-sensing % = 2.By electric input singnal to adjust pump displace-
compensator ment,and the flow is controlled by electric modular
+ Proportional - Rl

flow valve =
+ Relief valve L e R

1.HK offers the smallest pressure and flow
HK type: according to different requirement.
Load_sensing | s e e i p— S 2.The displacement is nearly zero when the system
— el | T | stands by,and the motor output is also nearly zero

compensator — a to saving energy.

+ Proportional
pressure valve

+ Proportional
flow valve

3.When the system reaches setting pressure,the
pump displacement will reduce by itself.

It only needs to add the system required flow,and
the pressure remains the same which control the oil
temperature.

4, Compared with vane pump,gear pump+PQ valve
can save 30-50% energy.




Dimension

YEOSHE

V15A, V18A Standard pressure control

44,5

Flow adjustment 196.8

48
O Drain Port: G 3/8" 18

INC.
Pressure adjustment

[14.76:4"5x32

g 0 44 Filling port
DEC. | 4-011
=1 b == | 2-M12xP1.75
[ mal (=] ‘u:.r —
| « \
I;{ | O i
3 1 [ 3 of® 79 5
5| /] <8 g =
- . S I E -
o -ij-# o =
J -
~ 4-M8x20 ‘ =) =
1 | 13 -
225 f S 147 105,6
131
173 _Outlet @25, 165 \_Inlet @25
V15A, V18A Standard pressure control (SAE A 2 bolt) Please following order code no.12
Mes O OO0O00—O0O000(A]
INC.
Flow adjustment 185 44.5 Pressure adjustment
48 0025
. g o O4.76% %32
Drain Port: G 3/8 18 8 o 4 Filling port
DEC. [T & oo|os
[ T2 ; = s 7 .
/ = B L S
(===} -3
e, A mm— o =k
by I S S 3 o3 2 1
2 ! 9 e
" 4-M8x20 —/l | I
i 35,1 13
R =" s
173 Qutlet @25 165 Inlet 325
V15G, V18G Remote pressure control
Remote pressure port: PT 1/4
Drain port . G 3/8" Pressure adjusiment
| 196,8 44 .5 (Warning: don't adjust)
DEC. Flow adjustment 96.5
48 ——04.76 5"%32
- 9 . Filling Port
10 c% og 411 —
g =% 2-M12xP1.75
| W
S| = r
= g N @ - o
I g < = | & B =] ol 5
2 ¥ _L1 g
] ; ! 8 |
- +$+ — o
hea
hiam - - R
4-MBx20 )
090
131 ¢ 25— | 384, «L—E / 1056
131
173 Inlet 525
Outlet 725 165 nlet @

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V15HL, V18HL Load-sensing control

Drain port : G 3/8"

44 .5

]

3

+

A

L

=l

Load sensing port : PT 1/4

Low pressure
adjustment

$19,05 -0.025

04.76'8" %32

4-911]
—=x

21,15.0.15

206
84

0

=y
L%

F- |\

82,55 -0.05

Filling port

High pressure
adjustment

2-M12xP1.75

— =+
60

Outlet® 25

0|

1056

131

Inlet® 25

164.6

dwnd uojsid |eixy A u

V15B, V18B Multi-stage flow & Single-stage pressure

control (with cylinder)

(Remark : Install with A type control)

@,

INC.
" 374 445 Pressure adjustment
48 ——14.76 %532
neyjs _Drain port; G /8" 18 g 44, Filing port
[ s |/ogles 2-M12xP1.75
! w w —
L=} -
@] —
g— I ﬁ: I f o) =1 % _?-c— >
B o + og o Th ™
T . — — P -
@25 i b = R’J 2
| | P I 1
4-M8x20 —/ y

I__Iﬁﬂ |13 £190

147 105,6

131

i78 __Outlet@25 165 \__Inlet@25
V15C, V18C 2-stage pressure & Flow control
Low flow adjustment 270 44,5 2-M12xP1.75 NG

DEC.

High flow adjustment

Drain port: G 3/8"

www .yeoshehydraulic.com

48

57,45
l1

o
25—

0

219,05 3 025

Fillin i
14,76 5«32 \

0.15

2115

211

4-M8x20—/|

4- G111

Low pressure adj.

High pressure adj.

6 |33

+0.3
101

10

60

Outlet @25/

190
105.6
131

165

\__Inlet @25




Dimension

YEOSHE

V15CG, V18CG 2-stage pressure & Flow control + Remote

Low flow adjustment

270

Filling port
Remote pressure port: PT 1/4

Low pressure adj.

High pressure adj.
(Warning:don't adj.

5. High flow adjustment Drain port.G 3/8" pkd \
* 48
: [14.76%5%%32 ] 3
. N 18 i o
i 6 I oSl 4-@11 ] y
gl M 2.M12xP1[75
o o 2 Pl
g @ n==NECIE" N
® 1% ) 1 |4 2 | ¢o| ©
N = / - ks
n T 14 s O " h
| T30, ) i & O
N 02—/ T 17 | B I \ @
L
I 4-M8x20— ‘ =1
| | 35,1 13 |1_0950s
131 & 147 " .
185 Outlet @25 1133 Inlet 225

V16CR, V18CR 2-stage pressure & Flow control + Low tension unloading

Low pressure adj.

O Low flow adjustment 270 445 I
DEC. High flow adjustment Drain port:G 3/8" Filling port High pressure ad].
o 48 \ b/
'ml +0.025 — -
O 18 & :4.?6;0 x32 o g-
=) -
Mo | 5 | foZ]es . ] 2.M12xP1.75
w| W
| = 3 = I L —-/
= =1 o o© H ]
i ciilsesr VEL I Ry e wedt
L | — | oo
r~ r = +.-
(73} —7 vm+ . . _LI DE éb h\dé -
B T, — o G _-Eﬂ_,
25— 7/ [ & 2
4-M8x20 — =
131 ! 35 | 13 C9
147 105.6
Solencid control valves 185 Outlet @25 — inlet @25
OFF:Low tension unlcadin _— 165 S E—
OM:2-stage pressure & flow control
V156D, V18D Low tension unloading + Pressure control
2-M12xP1.75
O Low pressure adj.
High flow adjustment 276
DEC. il
Filling port High pressuire adj.

Solenoid control valves

!

211

131

04.7657 %32 \

un,
S = INC
i ek IR T o
g8 N —
@] o
5 L —\ ﬁ h j [ |
- &~ éé 9| 2
.. \ =
# -G =
o j [E &
| Q @
‘ 13 0go
! 35'114? T 105,6
131
185 Outlet @25 165 Inlet 325

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V15DG, V18DG Low tension unloading + Pressure control + Remote

dwnd uojsid |eixy A u

INC.
O i ; Remote pres: t: PT 1/4 eI OraRs g e,
High flow adjustment 276 Bmote pressure port: _ _
DEC.  solenoid control valves Filling port High pressure adj.
K Drain port : G 3/8" (Warning:don't ad].)
48 | 44,5 e — g
EI il ® \ 14,76 3%x32 @
o 18 & w0 — -
o] —|
Lo 4-em
1 @ | S |pepgl N Hi 2-M12xP1.75
o Q) — I'
5 o II I I =] =N ﬁw
—| w3 B °d= = =
:T o
w
| | I
E
@25—
4-M8x2 090
105.6
185 Quilet @25 11251 Inlet @25
V15E, V18E Electric 2-stage pressure control
Low pressure adj.
. . 276
DEC. High flow adjustment il .
illing po
High pressure adj.
1 04.7644™°x32
gl & — .
P9 s [[E @ INC.
8| e e — B
g = . v\ 2-M12xP1.75
= & ge =
QQ : E
)
o G
3
1
90
105,6
131
Qutiet @25 3 Inlet @25

V15EG, V18EG Electric 2-stage pressure control + Remote

()

INC.
Remote pressure port: FT 1/4 Low pressure adj.

DEC. High flow adjustment : 276 Filling port . .
Solenoid control valves High pressure adj.
Drain port: G 3/8" (Warmning:don't adj.}
44 5 -

£y = 04.76:4%x32 )
o 18 8 w 8
6 | falg aon
1 @ | X i \ 2.M12xP175
(=] R o
- & o - |
I = g9 & n
© g-]— 17 2 =
% E 5 1 1 D§ L
= ik . o o
® © @25_// | 1 B! @
' 4-MBx2 :
131 l___lﬁ} ~L |13 090
147 1056
131
il Outlet #25 165 nlet @

www yeoshehydraulic.com



Dimension

YEOSHE

V15F, V18F Electric 2-stage pressure control & Flow control

Solenoid control valves

Low flow adjustment Drain port : G 3/8"
N 276 \

: , 445
DEC. High fl djust .
igh flow adjustmen’ |\ P |T|4.‘.’Bf3°?5x32
o i18| gl €
6 | PP
o T 4-¢ 11
. =5 g = o
ﬁ_ | _5 [a] E..
- T o
et @ I
gLagl g
p25— 1/ i |
4-max20 — | |! ‘ ;
35,1 13 90
147 ! 105.6
10 Outlet 325 115386 Inlet ¢25
V15FG, V18FG Electric 2-stage pressure control & Flow control + Remote
INC.

Solenoid control valves

Low flow adjustment

276

Remote pressure port: PT 1/4

DEC. High flow adjustment

251

131

112

+0.025

Filling port

Low pressure adj.

High pressure adj.
(Warning:don't adj)

04,765 x32
g T
a8l 2 4011 r
e il 2-M12xP1.75
g 2
= I — w3
2 N &l @ i
A= . oo =
o o s =
[l e
o i I
g B
T
090 A
1056
Outlet ¢i25 1133:5 Inlet #25

V15GM, V18GM Remote pressure compensator with NG6 interface

DEC.

178

NG86
00 + . +
< P
Drain portG 3/8" [0 ® + ° + Pressure adjustment
| 1968 44,5 e
Flow adjustment 48 ] 54'?6"3 wa Filling port
18 a| ~ 4-911
B S . 2-M12xP1.75
o re | © _
o] |
—| ™
w0 -
= ol &
g ~
5 / o5 =
— w
& -—@ - = il 8
-7 4 ] 2
V-q: 1 D N =
4-M8x20 —/ .
625 | 35,1 13 090
I 105,86
147 131
;
173 Qutlet @125 165 Inlet @25

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V15GJ, V18GJ Remote pressure compensator + Proportional pressure valve

dwnd uojsid |eixy A u

196.8 44 5
Flow adjustment 18, 40
Ju i
DEG. s o m | 18] Proportional pressure valve Prassure adjustment
IDI X J—:!]// [14.7619% %32
o g 10 | /8.
5 i 5 |/o5es 4-911
Ao | 5 g = gl < ) \
) o = (3]
) —| o )
o E=t o <
! = b
d[] =
g - |
. B
| — L
' |
131 |
Outlet 725 11 351 Inlet ¢25
V15GR, V18GR Remote pressure compensator + Electrical unloading
Pressure adjustment O
205 A45 INC.
DEC. Flow adjustment 48 40,
Proportional pressure _\ D— ] t— Drain Port:G 3/8" Pressure adjustment
valve o) / STl | /(Warning: don't adjust)
q | mD""-?G r%.ﬂ%xaz () o
ief val / - S Filling port
Relief valve .n 6 | /=95 il e /W ¥P1.75
g o ¥ i R ol
2 9.. E & ™
gl T S 3 5
[ Xa
w x—
%ﬁﬁ :
131
Inlet @ 25

V15GB, V18GB Remote pressure compensator + 2-stage pressure control

205 44.5 O

O ID in port:G /8" |48 A
) rain port: [ 40
DEC. Flow adjustment 1 High pressure adj 5
Proportional pressure i ressure adjustment
; 1 L dj. —_—
valve { Coadiich sl Smmi (Warning: don't adjust)
EIF:( g04768"x32 % Filling port
[P illin
Relief valve / i 6 Cl’f," 95 wl 4711 2-M12xP1.75
0 I5e] N / /
g o 3 & Y
ug gl & -« ] 2w
I i I 1 Wi = o 7T 5
ill I Y T 1 . " ] =1 1
HJ_ i — ) o
I:: _ 1 - [{e]
4-M8x20 / 13
<L I M B /| | ||-—Ds0_]
131 os 147 105,6
173 Outlet @ 25 131 Inlet @ 25
165

www .yeoshehydraulic.com



YEOSHE

Dimension

V15GC, V18GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

, 205 44.5 O

48 INC 40

DEC. Flow adjustment High pressure édj.
Proportional pressure ) Pressure adjustment
valve Low pressure Adj. % =
] . T /_P_i (Warning: don't adjust)
E
[

-

[4.7673025¢32 .
Filling port

o |

g

o u
Relief valve Du% C’E ol =311 .| 1.75
o| = g -
® o 2 R e
ol | TR Ay |4 oy
BleT M I — 8 N\ =l ¢
5 = ;;; s/ g Qy 8
é 4-M8x20 tH- [ ) e
31

1

P25

35,1 s oo |
147 % 1056
73 Qutlet @ 25 131 Inlet @25

V15HQ, V18HQ Load-sensing compensator + Proportional flow valve+ Relief valve

Low Pressure

Adjustment
Ko Proportional Flow Drain port:G 3/8" High Pressure
Control 252 l\ 04,76 129230 i 44 Adjustment
Flow Adjustment |l 96.5 44.5 R
48 P )
p o Filling Port
B =1 I
6 | csles & 2-M12xP1.75
| wn o .
[=] =
¥ = =
—| & ] = 0
| oL S 3 B 72| 5
o)l S22F |
]L” IS | B
Outlet —] 13 | IZIQO |
131 85 _| Threads code 140 e 1056
19: BT(RC) 1/ 173 85 131 Inlet @ 25
50: NPT 1/2" 233

V15HK, V18HK Load-sensing compensator + Proportional pressure valve+ Proportional flow valve

Low pressure

adjustment
4-¢11 :
Proportional pressure : . a High pressure
valve _, ?:;gm port : G 3/8 Drain port : PT1/4 adjustment
O o965  |44,5 4762055 430 44 ./ (Warning:don't adjust)
DEC. 48 [ -
Flow adjustment i -
1 (] I—I Filling Port
N e ol 2M12xP1.75
O gl = @ —
3 =R~ - I ! —
ﬁf’ <] | - 5 > g Ak %-$ /"\ ?E 2
2 Eh % DR & g}
e ' L N
90
121 &0 Qutlet !
— 1 |Threads code 105.6
131 131 10 ¢ PT(RC)3/4" 100 131 31
d 40+ G3/4" 262
50 : NPT3/4"
{Flange attached Inlet hos
in package) (Flange attached in package)

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.

dwnd uoisid [eixy A ﬂ



Dimension

V15, V18 Thru drive (SAE AA ¢50.8, code C )
Thru drive (SAE A #82.55, code D )

Mes IO —OOE]CIE
(2| 53 e | I Y O |

O O Drain port: G 3/8" TheS:

dwnd uojsid |eixy A u

DEC. DEC. )
185 445 Pressure adjustment
Flow adjustment Flow adjustment
l J 4 D476 1 %%a2
18 o 44 Filling port
uw
5 8|/ oolog| 42U | | 2-M12xP1.75
e w| B ] =
[ — = =
[ e j L o 0
1 ol ol o |13 7o &
% _ @ 'D\ / ol © ¥
fan = B S L
hd -’} 2 o
) @Y /4 , HL :
0 / 1 g
: 1056
\2 | 148 QOutlet 131 Inlet
] -M10xP1.5 ) 3 185 @25 165 \25
Thru drive 2 pump Thru drive 2 pump
D : SAE A (382 55 C ' SAE AA 7'50.8
Type A B c ‘ CG | CR D | DG E | EG F | FG G GJ |GM | HL | HK | HQ
O Thru dive aption| O ololo]o ololololo]o
V15, V18 Splined shaft type V15, V18 Inlet / Outlet
375 375 311
- 2 6 Outlet Inlet Inlet
[, [ [ L
g 35, 24 351 424, 135 50,8
3 " 5 ] 1 |
sli=Fli=li=Flsls_FEIOR=ERIC) @ £3
u g [ g (18 g 8 | ® 3 | ® . 1
B o o G G lTleTel L }_
= =t o L
= 22 = 22 — 13,5 Threads code Threads code P24 I
20BSEP(S) 314" 10.BIBP(B) /4" PI(RC) 34"
31.3 31.3 281 aoNET a4 SONPT 34"

S5: 13T DP16/32 S:1MTDP16/32  S1: 9T DP16/32

www .yeoshehydraulic.com



YEOSHE

Dimension

V23A, V25A Standard pressure control

Drain port : G 3/8" inG  Pressure adjustment

DEC. Flow adjustment

: 223 58,5 06.351 x40
§ e
S 2
8 o 8
(] I.O- e
g ]
g g
a0 -
= @
=)
® o h=1
wy
L
14 146
182 4-M10x16 Outlet 125 Inlet 25
182
V23G, V25G Remote pressure control
Remote pressure port : PT 1/4
Drain pon G 38" Pressure adjustment
223 ing: . i
DEc Flow-adiugément 6 (Warning: don't adjust)
58,5 [16.35:1 x40
24 g e |
% sps
e 2 |/ I8
— od| | & -
- 5] <
- S { 2 P
. ‘_I , e
[d=)
2
¢25 iV @
< BH
o [ —l- s
| 14
4-M10x18, 26'2170 __Oullet @25 140 _Inletg2s
182
200

V23HL,V25HL Load-sensing control

Load sensing port: PT 1/4

Low pressure adjustment

Drain port: G 3/8"
223

High pressure adjustment

Flow adjustment
06.35 5% x40

Filling port

33

@222 -8_025
25,08 315

2385
110

238,5
61
[ 1

$101,6-0.05

| _L_.__ 146 \
| 170 OQutlet #25 Inlet #25

200 182

4-M10x16, '

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V23B, V25B Muti-stage flow & Singe-stage pressure control (with cylinder)

Pressure adjustment

Drain port : G 3/8" INC.
= t 420 \ 58,5 [0 6.35:3 x40
RC1/4 51 & 1 39 Filling port
D & oo )
X, of 8 i
o W o
G i 4

QO — =) - 8| o

— : atd
o WT 925 =g & @ ?
—_— A .. =] ’ -
wn = X
=t - S @
g N & ==

146
Qutlet #25 Inlet @25
4-M10x16 —Oulletg2s ___Inlet @25

-8 - 179 182
3 200
©

V23C, V25C 2-stage pressure & Flow control

Low pressure adj.

Low flow adjustment

Drain port : G 3 /8"
DEC. g, p Filling port
200,5 \ 585 06.35:% x40 \,
51 8w
R |1 a
Ao/ 9 = 5
== o<
= ol ﬁ
© it ] 1 ® ©
N 5 | | 3 8
e 4 oo
_' @ - e @
©25 _+—T110 b
i -4 g
Sy aiin p—————= .
l 14
4.&1@/ 262 N Outlet @25 146 \__Inlet @25
A0 182
205
V23CG, V25CG 2-stage pressure & Flow control + Remote
Remote pressure port : PT 1/4 INC.
Low flow adjustment \ 2005 58.5
DEC. High flow adjustment i . " Filling port
Duain port : G 3/8 16.35:9% x40
o 51
o .1 g w X
| g |[osPT
NE e B
£ g 8l o] 2 o
= p=i =Y & i ?UD)
Gl 3 o
w —al
$25_| = T
=t = w
o S
14
4—’*@/ H-282 __Outlet¢25 16 | N etgas
205 182

www .yeoshehydraulic.com




Dimension

YEOSHE

V23CR, V25CR 2-stage pressure & Flow control + Low tension unloading

Low Pressure Adj.

Low flow adjustment
20,3 26,9 ik High Pressure Adj.
DEC.  High flow adjustment Drain port: G 3/8" illing port
51 .
o " 6355 x40
9 9 S &
Sles
93
——— & 9 ©
- ] 1 - Y
- L =
2 [
- T —F |
$25 =
<t} =
o | e
s}
14
4-M10x16 26.2 —L-— Outlet 25 146 Inlet @25
170 182
Solenoid control valves 205
OFF:Low tension unioadin
ON:2-stage pressure & flow control
V23D, V25D Low tension unloading + Pressure control
INC.
Solenoid control valves
O Duain port; G 3/8"
Flow adjustment \ Filling port High pressure Adi.
& |

297 , 58,5 06.350% x40

1\

Qe
L] H I
O
- 'l
] N O
oJ| 1D
i 88 .
o~
4 o
“DI
25 1 —
q‘-
o
w0 T

4-M10x16

Qutlet 725

Inlet @25

V23DG, V25DG Low tension unloading + Pressure control + Remote

Solenoid control valves

()

INC.

Low pressure Adj.

High pressure Adj.
(Warning:don't adjust)

O 207 Remote pressure port: PT 1/4
Ded Flow adjustment \ Duain port: G 3/6" [16.35%" x40 Filling port
Q O o 51 | 58,5
o 18 g o
. [} I:IC‘iDt‘_?
o) o
ol =
10 N W w| 2
g B =" S 2
ET ® ( 8
® oG
: =]
$25 4 = S
| 5
o
14
4-M10x16 t Qutlet ¢ 25 146
182

Inlet @25

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V23E, V25E Electric 2-stage pressure control

INC.
Solenocid control valves ; Low Pressure adj.
O Drain port : G 3/8"
Flow adjustment +0.03 Filling port i .
DEC. O ACISIH ; 2g7 585 OB.AE40 x40 High Pressure adj
| 51 g o
o RE I 1
Olde i |73 9
=]
\E 94 3
- ] - wl Sol|
5 — S & wl 7
@ P e b
— 2 w e
$25 -+ - J > T a
= _r s ©
| 14
4—%/ H-282 Qutlet #25 e Inlet #25
170 182
205

dwnd uojsid |eixy A u

V23EG, V25EG Electric 2-stage pressure control + Remote

INC.

Solenoid control valves Remote pressure port: PT 1/4

® )
Flow adjustment ; ) . [16.35:0°x40  Filling port
DEC. Drain port : G 3/8 '-—'-"—'—'1 (Warning:don't adjust)
2 51 | 58,5 v !

18

[

w
0
25,08 -0.15

¢ 222 -0.025

F
&)

26,2 __I__..1_4
4-M10x16 T | 5. 170 Outlet @25 146 Inlet @25
l“_z 0 5“‘_ 1 182

V23F, V25F Electric 2-stage pressure control & Flow control

()

Solenoid control valves INC.
L di.
Low flow adjustment Drain port: G 3/8" W prassUre o0
207\ 58,5 06.35:3% x40 _Filing port High prossur
\ 51 9 n |.
o 18| go; L
9 @ B
Q A N
o
N A= g
® ® 3_ / s
o) €= 11
s @ )
l— | 8]
T
| 14
26:2 170 Outlet @25 146 Infet #25
505 182

www yeoshehydraulic.com



YEOSHE

Dimension
V23FG, V25FG Electric 2-stage pressure control & Flow control + Remote
INC.
Solenoid control valves
Remole pressure port : PT 1/4 Low pressure adi.
O Low flow adjustment 297 /
06.358% x40 Eqi
DEC. High flow adjustment Drain port : G 3/8) Fiing pod (Warning:
C‘I O 5 58.5  don't adjust)
51 9
o IE obs ]
9 | ~38
w| 9 g o) wo| 2 i
0| @ = N © @
ot LR Fiangma B LI E A
i vy _L o)
——F o
N — HH{ —s
T w 14 ¥
182 4-M10x16 / 4—+HH-28:2 8 Outlet 725 146 Inlet #25
- 182
205 8
V23GM, V25GM Remote pressure compensator with NG6 interface
NGB
08 + . +
: - pin
00+ ° +
O . | 223 Pressure adjustment
DEC. Flow adjustment 51 e
Drain port : G 3/8" 14 06.35+0 =40
58 5 9w Filling port
oo
2 |/ 98 i
o 0
4 L g
—m = 2|
=] o
o9
— ©
_@' =
|— 1 =y
| 14
182 4M10x16 / I| 2 Outlet 25 Inlet 25
200 182

V23GJ, V25GJ Remote pressure compensator + Proportional pressure valve

223

51 Proportional pressure valve

Flow adjustment
DEC. W Ui Pressure adjustment

_ Drain port : G 3/8" _
1 06.35 15 x40
585

{{=]
9222 Tos
25,088 15

286

0
101,6 -0.05

524

26,2

| 182 4-M10x16 *170 Qutlet @25 Inlet @ 25

200

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension ds?

V23GR, V25GR Remote pressure compensator + Electrical unloading

O Prassurs adjustmant O

DEC. Flow adjustment 295 hil2s 40,  Pressure
Proportional ‘DI_‘_“_‘ Drain portG 3/8" T adjust.ment
pressure valve  \ 98,3, , LWamlr;Q: )

@) lon't adjust
+0.03
51 8 %6'35*9 g Filling port
Relief valve o y B o] e
1 0 @ : 21 3 <
ol © & g : [
E]_ 29| ] o 2|7
% (‘\ : < =
$25—TaTef o/ _D- > A oo
< = ©
EHE\ g/ [ il NS
182 4-M10x16 26,2 | 14 146
' 170
e Outlet @ 25 182 Inlet @ 25

dwnd uojsid |eixy A u

V23GB, V25GB Remote pressure compensator + 2-stage pressure control

) 205 INC.
Drain port:G 3/8" = 51

High pressure adj. 40

DEC. Flow adjustment

Proportional m’ — |~ Pressure adjustment

58,5 Low pressure adj.

pressure valve [ (Warning: don't adjust)
+0.03
‘ ﬁ__lh_:n/ i %5.35,0 x40 it
Relief valve 1B o2|es
Lo [d 8 ©
g Te] el
[ o o
(] 1 A< b go m|
q oo o] [l [ 5"
i C'\ i % D))
@ P
@25 ™ rY s Q LA | op
“&/ﬂ”’ Wi 1N — = NS
182 4-M10x16 | 26,2 oo L 14 146
200 Qutlet 225 182 Inlet #25

V23GC, V25GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

O

) 295 INC.
DEC. Flow adjustment  [Drain port:G 3/8" |_51 High pressure adj. 40
L— 0
Proportional - i Pressure adjustment
pressure valve 'ﬂ/jrj 38,5 /m—WWL‘—‘LM (Warning: don't adjust)
H%I/ fe [6.3535>°x40 Filling port
& u
Relief valve 18 Ao
0 g L=
o8 L2 (8 @
ol @ ol ™ “lo =
0} - - ! © i o9 m
-~ 5 I g -~ +1.r)' )]
Py 4 [
| U 3
®25-$ o) ﬂ 5 L o
©
N — i —= NP2
- 4-M10x16 26,2 14 146
' 170 Outlet Inlet
T utlet #25 182 nlet @25

www yeoshehydraulic.com




YEOSHE

Dimension

V23HQ, V25HQ Load-sensing compensator + Proportional flow valve + Relief valve | eessine A
Drain port:G 3/8" o L
272 [ 06.35:0 x40 High pressure
i A — adjustment
N2 g © i Filling port <
Flow adjustment SwEs L
o™
: V- I a1 >
& sl © 82 “ K E: 2%,
o =) u
5 Og E @ i Q_J
v o LY | : -
g a 2 -9.
] [©) —= P : ) '_Cﬂ_
14
| 2482 | 160 *’I"'_ 76,2 146 O
Outlet 200 =
Threads code 2482
10: PT(RC) 3/4" “—Proportional flow control o
40 * c
50 | NPT 3/4" 3
©

V23HK, V25HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

Low pressure

—
=

adjustment
Il L
pressure valve —L\ [16.35 840 oo adi
B 116 i (Warning:don't adjust)
58,5 °
) Filling port
e i
9 [ & !
ol S -
1 O = CB 138 g M@ =
s i 5 “lo, | B0 +0|H
] > - h:l f Pl
fa . . - X w Lt i i -
= 5 - ] i 2
s I 1 P S - X
® b + A\
| 160 "'L"' - |
Outlet 5 o !{'7'%‘
247

Threads code

10 : PT(RC) 3/4" Proportional flow control
40 G 3/4"

50 : NPT 3/4"

V23, V25 Thru drive(SAE A ¢82.55, code D)
Thru drive(SAE B $101.6, code E)
e e e o A B G
L - |[R=2 | | | J UL | | | L= | A

224 58,5 O
+0.03 Pressure adjustment

£16.35'3 " x40 .
Drain port : G 3/8" S 0o T 39 Ne
9T DP 18/32 9TDP 1637  Flow adustment oo |os i Filling port
w3
L DEC. = g o
= g 3"
5 o 8
d : . )
A S
g =] Ry
3 B T
+0.04
$82,550 Lo
2-M12xP1.75 - MO 5 182
Links E : SAE B %1016 Links D : SAE A (98255

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.




Dimension

V23, V25 Rear port ( Please flowing order code no.6,add“B” )

YEOOOEO-00000 i S

223

Duain port : G 3/8"

DEC.

Flow adjustment : | ]

.l\‘

@ 101,6-0.05

Inlet —

Threads code
10: PT(RC) 1"
40: G 1"

50 : NPT 1"

Threads code ‘ T
10 : PT(RC) 3/4" | 14

40:G :gw ! 200 e 148
50 : NPT 3/4" ! 182

B : Axial port

dwnd uojsid |eixy A u
¢222-§?|5D
g

V23, V25 4 Connections for rear port ( Please flowing order code no.6,add“B2" )
I 2 I N [ [ [ O

Duain port; G 3/8"

O Flow adjustment} 223 | 583

Pressure adjustment

06.35:0" x40

(<=}
0 E
P222 -0.025 o
0
08 -0.15
|

DEC. 51
5 5
o
| =)
@
o / 38
— © 8
S
I S =1
Inlet ¥
ThiGHHs wodd 'Igl'l{lrtgds code @ | 14 l
Aok 210 10: PT(RC) 3/4" t 148
; " 140: G 3/14" 182
Sl RET 50 : NPT 3/4" !
Pipe code B2 : 4 connections for axial port 210
(interchangeable for side and rear port)
Type A B (8] CG D DG = EG F FG G Gl GM HL HK HQ
O Axialportoption | O | O X O 1O | O
V23, V25 Splined shaft type V23, V25 Inlet / Outlet
425
Outlet Inlet
9
e | 26,2, 88 ‘ 26.2, -
u
<
o o3 — y
HE @ . .
= & &
i
22 Threads code Threads code
335 10 : PT(RC) 3/4" 10: PT(RC} 1"
- 40 : BSPPR( .'.}34‘4' 40:BS P[.G} 1 e
50 : NPT 3/4 50 : NPT 1"

S: 13T DP16/32

www yeoshehydraulic.com



Dimension

YEOSHE

V38A, V42A Standard pressure control

DEC.
Flow adjustment

232 58,5
Drain port : G 1/2" L
ik
9

1\

5 =l '
8l N
I‘"'__ :
3 A -“-J
31 Y|l

@ 222 -0.025

0

()

INC.

Pressure adjustment

[16.35:5 x40

-0.15

25,08

210

101,6-0.05

30,2 | 145
4-M10x18 | 179 Outlet 31 160 Inlet #31
209 198.6
V38G, V42G Remote pressure control
Remote pressure port : PT 1/4
MM\ Pressure adjustment
. 2323 {(Warning: don't adjust)
. 119 58,5
Flow adjustment 3
: 51 06.358% x40 -
ki 0 - Filling port
9 g £
m oc|og
! =S 3
ﬁ E 0] - A
= | o ?C‘:
1 ) & wl]
'¢ ,.’,) oo b o s
paaliraun(i|MISER =
£- <5 a2 o
3 P~
031 /1d 5 5
/ 302 AL-—J—M 2 / 146
4-M10x16 | Sk Outlet #31 = Inlet @31
209 188,6
V38HL, V42HL Load-sensing control
Load sensing port : PT 1/4
Low pressure adjustment
Drain port : G 1/2"
High pressure adjustment
| 232
58.5
O Flow adjustment 139
51 16.35 4% x40
: _ 5 Filling port
] uy
I 9 S| =
I oolog) g
L o) g 7
8 & 1) — @
s P ¢ 9
o0 i [r53 n| =
’“L # E _I{_ o3 A O
el $ i e <) 1
pil 2 e _lf 5 h
g = o
Y Ol
‘1’31 —
14,5
30,2 —-l-.._
4-M10x16, 179 Outlet & 31 160 \__Inlet @31
209 198.6

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V38B, V42B Muti-stage flow & Singe-stage pressure control (with cylinder)

(Remark:Install with A type control)

4285 58,5 INC.
51 Pressure adjustment
Drain port: G 1/2" = 06.35:5™ x40
RC1/4 / g 2
oglog -
ol 8
= 8l g
i o
oM uy oo
R Z -3 &
y : 2
[ ,_
A b & &
931~ 1T R

/] Ta0e || 1as L |
4-M10x16 | i [ Outlet #31 Inlet #31

209 1986

dwnd uojsid |eixy A u

V38C, V42C 2-stage pressure & Flow control

Low flow L
adjustment Low pressure adj.

High flow 294 58,5
DEC.  adjustment 51 006.353% x40 Filling port
Drain port : G 1/2" e
1 uwy
§ e
o 2 od|og
8l g
ks

243
73
5[,?
|

5

n=

0

101,6-0.04

243

v \
/ | 14,5
1986 4-M10x16 20,2 Qutlet 731

209 198.6

Inlet #31

V38CG, V42CG 2-stage pressure & Flow control + Remote

Low flow INC.
adjustment Filling port Low pressure adj.
High flow I 294 Remaote pressure port:PT 1/4 . .
DEC.  agjustment Drain port: G 112" 58 High Drizsun? ad.
51 - ) { z?rnmlg‘
° -——~1 Lr’|:|6.:3;5'E %40 . don't adjust)
Il o1 ) [ar]
HE2 [fo5le3 -
of 8
ol | o
1 - = w)
%_ TP (I o5 : .
I 7 f —F g |
- z s
| P S =
931 | |
02 —H14s 146
4-M10x1 I “179 Qutlet @ 31 180 Inlet 31
209 1986

www yeoshehydraulic.com



Dimension

YEOSHE

V38CR, V42CR 2-stage pressure & Flow control + Low tension unloading

Low flow
adjustment ) 204 58.5
High flow
DEC. adjustment Drain port : G 1/2" Filling port
i F 51 [16.35:4 x40 ]
d & w
5 ACH 8- B
i o g
(] Lol ol
8 &
oo 1
1= 1~ 01 _L =g
Ao | D=2
Ko (o) \ =
2317 f ¥
30,2 A_L*_,_m S . 146
4-M10x16, 179 Qutlet @31 160
Solenoid control valves 209 198.6
OFF:Low tension unloading

ON:2-stage pressure&flow control

INC.
Low

ssure adj.
High pressure adj.

——l

13583
172

o
™~

Inlet @31

V38D, V42D Low tension unloading + Pressure control

Saolenoid control valves

()

INC.
Low pressure adj.

Flow 301 585
DEC. adjustment Drain port : G 1/2" 1 06.354% x40 Filling port High pressure adj.
B it 1 -
[a¥] uwy -
0 |52 2l
—
[fe]
E of ™ 2 2 o
Ing] 1 wnl
{op = 2
T Bl ]
A I~
31 i
30,2 _l__.1_4.§ 148
. @
. 198.6 4-M10x16 179 QOutlet #31 160 Inlet %31
209 198,6
V38DG, V42DG Low tension unloading + Pressure control + Remote
Solenoid control valve: Filling port INC. .
201 Remaote pressure port: PT 1/4 Low pressure adj.
O Flow 585 High pressure adj.
adjustment Drain port : G 1/2" - :
DEC. e 5 {Warning:
——ala% -5 06354 x40 | don't adjust)
k 1 [ o
q r S| v -
o o] o
{=]
& wl o) 3 o @
0 17 ) wy
™~ " ® @ 5 | J ag h @
j— B — 8 [ =]
kS 8 § 2] - o
1N -~ 8
31,/ Pl "
30,2 ._L.._L.14 5. 146
4-M10K16 179 Outlet @31 160 Inlet @31
209 198.6

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V38E, V42E Electric 2-stage pressure control

' Solenoid control valves INC.
Low pressure adj.
Flow ao1 58,5
; High i
< DEC adjustmant Drain port : G 1/2" 51 o 535:;.03 x40 Filling port igh pressure adj
—_— 14 -
> Ol | 9 | 8 2 — e
oclog L]
x. o i — 1
Q) \E ! o & -
= | - g zgl §
I i [ie] b el
= " ® e W)E l a3 ; 2
7k =l — 2
— ‘U [ § | r
_ Bl
g 3 -m— | -
302 AL 14.5 146
'c | 108.6 4-M10x16 179 Outlet #31 340 Inlet 31
5 205 198,86
L&)
V38EG, V42EG Electric 2-stage pressure control + Remote
Solenoid control valves Filling port INC.
S Remote pressure port : PT 1/4 Low pressure adj.
Fl
il High pressure adj.
adjustment Drain port: G 1/2" 58,5
: — 51 - (Warning:
o o 006,354 x40 | don't adjust)
4 i 52,
Lot
o o [ § = -
P )
i < o
] ol o o
sl o &S $=| -
© 1 o = | o)
7 - . ® E _L QE 1
m_-ﬁ = = h
(o of Z o
@31 | - =
30,2 | 14.5 ; 146
108.6 4-M10x16 179 Outlet 31 180 Inlet @31
209 198,6

V38F, V42F Electric 2-stage pressure control & Flow control

Solenocid control valves O

INC.

Low flow 3
adjustment cos Low pressure adj.
; 301 ;
High Flow : i - . High pressure adj.
) - X illing pol
DEC. adjustmant Drain port : G 12" |24 [16.35+0 x40 g P
o
T ol 8 ¢ ] L
[ [ [ g8 2 Joslos I
i o | =
o
s ¢ 2 ¢ &
) 17 '] o o]
i o '!?) H g_ o5 i 59
- ﬁ = ] @
i [) - S :' o
5 I~
@31 / H PO L .
14,5 146
4-M10x16 / 30,2;?9 Outlet @31 P Inlet (31
209 198.6

www yeoshehydraulic.com




Dimension

YEOSHE

V38FG, V42FG Electric 2-stage pressure control & Flow control + Remote

Solenoid control valves
Low flow
adjustment

High flow
adjustment

301

Remote pressure port ; PT 1/4

Filling port

Drain port : G 1/2"

58.5

Im
-, |2

[16.3510%x40

2508 -8.15

$31

4-W10x16/

\

1325

148
160
198.6

13578

INC.
Low pressure adj.
High pressure adj.

(Warning:
| don't adjust)

33

162

o™
[

Inlet 31

V38GM, V42GM Remote pressure compensator with NG6 interface

NGB
ee + ., +
: » ;n
00 +° +
DEC. 232 7 Pressure adjustment
Flow adjustment Drain port : G 3/8" T 06.35 :g"axdﬂ
58.5 § = Filling port
B 9 Slog
g of ® r
= L 8 g N o
1 i § $°| o
2 r-y 2] [15] [
T % F og p o
m“‘_$- _‘_'"' -]
4] { S TN
I S . =1 B
®31 /|0
1
02 45 146
4-M10x16, | 179 Outlet 431 160 Inlet @31
¥ —_—
209 1986

V38GJ, V42GJ Remote pressure compensator + Proportional pressure valve

2323
Flow 51 Proportional pressure valve
adjustment 1 /
DEC. Drain port: G 1/2°
] 01635 14%x40
? EI | 585 g e
g [er|el
: — "
: 2 | al o 3
T ol @ = | g o~ ™| &
b o 1 [¥s] ol
P i 9 l Oé
s St (P4 T — o
| °) =
@31 -[h- i N
14,5
198,6 4-M10x1 — 179 Outlet $31
209

Pressure adjustment

Filling port
QW)
e
R
=
4 o
I~
1468
160 Inlet @31
1986

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V38GR, V42GR Remote pressure compensator + Electrical unloading

Pressure O
232 i adjustment INC.

58,5

DEC. Flow adjustment

B — Pressure adjustment

Proportional pressure

valve /—Drain port:G 1/2" (Warning: don't adjust)
. [16.35:% x40
Relief valve o 4 p 3 § .:.E Filling port
f=l=] ¥
=k . e 2 "
= A— Q| v P o
L) Y 3 = | e ™ ?u‘_:; piE]
1 —
[ 3 &) E |r = &)
[ <5
A5 : K =
H J _E &l N
¢31—/ | e
T

30,2 14,5 / \
198 6 4—M1Ux16—/ 179 Outlet ¥ 31 :gg Inlet @ 31

209 198.6

dwnd uojsid |eixy A u

V38GB, V42GB Remote pressure compensator + 2-stage pressure control

)

232 INC.
DEC. Flow adjustment |Drain port:G 1/2" 58,5

High pressure adj.

Low pressure adj. 1
-

/ 6.3515% x40
[fy)

g e

9 ooPT
& [
3

Pressure adjustment
(Warning: don't adjust)

Proportional pressure
valve

Filling port

Relief valve

343

$222-0.
25

121
73 |
i

I~

101,6 -0.05)

o™
[

|

B
EIIl! ']E A Jf
am—j? | =] ] : ;
30,2 14,5
198.6 4-M10x16 s Outlet #31 1;3 Inlet @31

209 198,6

V38GC, V42GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

343
343

232 INC.
Flow adjustment )
DEC. Drain port 1/2" 51 High pressure adj
; 2:- - — Pressure adjustment
Proportional pressure )
valve :D 58,5 /M ] (Waming: don't adjust)
| e asamao
; Filling port
Relief valve ol i 1 8 gp
O 4 2 -
Y o
o™
©

25,08.9.15

121
73
5;,? rn/
X
II=
0

#101,6-005

K
i

- 1y r-(?-
@ai f’u ¢ )
30,2 14,5
198.6 4-M10x16 i Outiet 31/ Inlet @ 31
209

www .yeoshehydraulic.com



Dimension

YEOSHE

V38HQ, V42HQ Load-sensing compensator + Proportional flow valve + Relief valve

Low pressure adjustment

280
119 58.2
_Drain Part: G 1/2" 51 016.357™ x4Q
DEC. M 18 P
Flow adjustment 9 ! Bt
L] 3 o §
I
o
3 = © 2
2 | s I z
- o9
; \ —] ©
‘ ®/® s
262.3 Outlet AL_l‘lﬁ_
J Threads code |—1485 ~7T
10 : PT(RC) 1" 209
40:G 1" P . |
50 - NPT 1" roportional flow contro

33

121

75

Filling port

Inlet

@31

V38HK, V42HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

Drain port : G 1/2"

Praportional

292,1

[06.35 15" x40

®22.2 005
2508015

pressure valve I \ 119 58,5
= 51
[ 1
9
=
* o ZlH
o |
14,5
far—t™
Outlet L1857
Threads code 209
10: PT(RC) 1" ;
40:G 1" Proportional flow control
50 : NPT 1"

Drain port : PT1I4["

Low pressure adjustment

High pressure adjustment

140 Inlet
75 160 31
262

V38, V42 Thru drive (SAE A ¥82.55,code D)
Thru drive (SAE B ©#101.6,code E)

ME OO0 —00EINE |
[VIRel I — OO EICE

14T M1.25

Links E: SAEB ©101.6

+0.05 = \
101,60 |82 550, |
146 M12P175] 108 -M10xP1.5

DEC.
Flow adjustment

Type

|a |8 |clcslcr|p|os| E Es| F [Fo| s |ai|am|HL|HK|Ha

(2 Theu drive option

=3

EIEEE

HEEEEEE

Links D : SAE A %82.55

Pressure
232 58.3 adjustment O
: . w1 51 INC.
Drain port: G 1/2 00 .
Rt s AR ] = [06.350 x40 39 Filling port
N Ip
{ =] -
3o 3
of 8 §
8l g - @ ) o)
o g o~ ?0 ]
ol T w| =
=Ry e
<]
5 b T o
| r~
— i
30,2 | 145 146
L}
174 198.6
231

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V38, V42 Rear port ( Please following order code no.6,add“B” )
MesOOEIO—O0O0000

" 232 58,5 (Ibg Pressure adjustment

[36.35:5" x40

0,
-~
=5
o
il <
o
o~
k=]

Inlet / ; = _| outlet

Threads code Threads code

10: PT(RC) 1-1/4" 66,6 10 . PT(RC) 1" 1986
40:G 1-1/4" 204 40:G1" 241 .
50 : NPT 1-1/4 B: Axial port 50 : NPT 1

dwnd uojsid |eixy A u

V38, V42 4 connections for rear port ( Please following order code no.6,add“B2" )

MEOO O O—0O0O000

i 232 58,5 e Pressure adjustment
+0.03
= 06.35%" x40 Filling port
& o 39
al
Cover plate pEC. os|os _
Flow adjustment al <o -
1 5
g s 2 o
1 o 2| o
3] = X
R b " .:?3
= Outlet N
Inlet Threads code L HERE
Threads code 10 PT{RC)I' b\_ __/'6
18 PT1(R1(} 1-1/4" 40 T
4 B 146
50 : NPT 1-1/4" E2s R NPT 1 .
1986
Pipe code B2 : 4 connections for axial port
(interchangeable for side and rear port) 224
‘ Type A B Cc CG D DG E EG ‘ F FG G GJ GM HL HK ‘HG
IU Axialportopton | () | (O | (O | (O | S| | S | T I
V38, V42 Splined shaft type V38, V42 Inlet / Outlet
42,5 47
9 g Outlet Inlet
ot . . 302, 132 , 302, 32
L g I I I I |
. 5 :
— = — <
[=l=] =T ~ ~
2= 2EY 1D y
- } o 1 @ 0 L
i s S
s > ;
. = Outlet Inlet
— 23 — 27 Threads code Threads code
10 : PT(RC 10 : PT(RC) 1-1/4"
335 20 4 BSIJ é 4 BSI:' >(6) 114"
S: 13T DP16/32 S1: 15T DP16/32

www yeoshehydraulic.com




Dimension

YEOSHE

V50A, V70A Standard pressure control

57

DEC.

Flow adjustment

O07.94.0 x45

INC.
Pressure adjustment

+0.03

Filling port

dwnd uoisid [eixy A ﬂ

o
' o & 74
10|f os|os |
i w
o b ¥ -
b ™
S o 2
o | wn| -~ -~
o 3 8
o | b 3
- (=]
) R =]
938 kA
24
4-M12x2 8.7
256,5
200 Outlet 38 Inlet ¢iag
V50G, V70G Remote pressure control
Pressure adjustment
(Warning:don't adjust)
Drain port : G 3/4"
) 306 Remote pressure port : PT 1/4
, 180,5 57
Flow adjustment 73 07.04 545
33 @
» - -
10| od|os
g i
L I
o B
‘gl e
2 g o .
] =« o) ) c.ol' o
e T N
[ by
®38 [ bz £
24 i
A-M12x25 / ; 357 _-1__'_ o115
256.5 181
300 Outlet 38 208 Inlet 38
261,5
V50HL, V70HL Load-sensing control
Low pressure adjustment
Drain port : G 3/4" e High pressure adjustment Load sensing port : PT 1/4
I
1 M 180,5 57
bee. Flow adjustment =3 .
17 0 O7.94: %45 Filling port
o o
10 oc|os K
g 8 &)
11 = w
™ 3]
= Q@
[yl [Vs] & -—
B - o+a ﬁ | Dg &
©f | . ’ 1 B -
9 _9/ g
$38 i o
| 24
4-M12x25 35‘?
2615 s ! 2565
1)
00 _Oullet 938 | 208 _Inlet #38
261.5

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V50B, V70B Muti-stage flow & Singe-stage pressure control (with cylinder)

(Remark:Install with A type control)

dwnd uojsid |eixy A u

INC.
' 511 57 Pressure adjustment
L —17.94 38745 -
Drain port : 6 34" 34— |/ & o -—l‘ Filltg port
10| oclos
2 8
b I m D)
2 T 4f HE
= oo 3 a -
@] — {_9/ j &I‘ = 3
@ ; 2
738 [ T
24
4-M12x25 | 35,7 7 o118
256.5 181
300 Outlet #38 208 Inlet ¢/ 38
2615
V50C, V70C 2-stage pressure & Flow control
V50CG, V70CG 2-stage pressure & Flow control + Remote
INC.
Low flow Low pressure adj
adjustrment 144
—_ High pressure adj
High flow 409,4 57 84 \ﬁ\t'agmirlp :don't ad'us%
DEC. adjustment ; 73 - (CG type)
Drain port: G 3/4" ==~ [17.94 %45 Filling port
10{ /o /

$31,75-0.025
0
35,35-0.2

a3
e
3038

o 1 og
J - —
o [ _9/
®38 q __ [T—— - .
/ | 24
4-M12x25, 35,7 0115
\__Inlet #38

$127 -0.05

256,5 181
200 Outlet #38 208
261.5
V50CR, V50CR 2-stage pressure & Flow control + Low tension unloading
INC.
Low flow Low prassure adj
adjustment 84 ) .
High flow i 409.4 57 High pressure adj.
DEC. sdjustment Drain port : G 3/4"
7 943" %45 [] i
/E N L = Filling port
gy oo :
2 s TT1= Fol2
fan) o) 4 - |
© J. = g
$38 = | =
4-M12x25/ 0113
: 181
Solenaid control valves Outict p281 | | 208 inist 223
OFF:Low tension unloading 261,5

OM:2-stage pressure & flow control

www yeoshehydraulic.com



Dimension

YEOSHE

V50D, V70D Low tension unloading + Pressure control

V50DG, V70DG Low tension unloading + Pressure control + Remote

Low pressure adj.

()

: 3302 £29 High pressure adj.
Sed 57 84 (Warning:don't adjust) INC.
& i . " - . (DG type)
Drain port: G 3/4 73 0,03
Remote pressure port: /oW adjustment o A f_ulT] o i Filling port
PT 1/4(DG type) 2 s 3 « /
t= oc|loo =)
@.I'-_.‘ I o ‘j; <
| ("}_ o
| (g
-l I I
9| @ af
w8 b =0
Al Ve ! »
B _loTe E ]
o
038~ %]’ — — -
I 24
4-M12x25 { 357 —
. 2615 256.5
Solenoid control valves 300 Outlet #38 \_Inlet @38
V50E, V70E Electric 2-stage pressure control
V50EG, V70 EG Electric 2-stage pressure control + Remote
Low pressure Adj. O
L 3302 229 High pressure Adj.
57 84 (Warning:don't adjust)  INC
DEC. ) " =~ m
Flow adjustment Drain port: G 3/4 3 £17.9415"xd5 Filling port P
Remat? prsssw}e port: 33 9 g
PT 1/4(EG type; — 10 o ™ -
@ oslesl  <IA[O]
Bl 8
= o 8 «
2' Iy = [Ts) E
Bl 3 ® ® )
@ Fa . :
2P — 5
P 5
& 38 ;- T
t 24
4-M12x%25, | 35,7
, 2615 2565
Solenoid control valves 300 Inlet 738

V50F, V70F Electric 2-stage pressure control & Flow control

V50FG, V70 Electric 2-stage pressure control & Flow control + Remote

Low flow 229 Low pressure adj.
adjustment  Solenoid control valves 84 High pressure adj.
High flow \ 406 (Warning:don't adjust)
. 1 7 (FG type)
DEC. adjustment | 57,
Remote pressure port: Drain port : G 3/ 1"?31 —7.9457x45 .
PT1AFGype) (oI T [r3 [ o . Filling port
.J ol JOE T 3 g o] )
& == = 9 ) ?.2 g o O
Sl = o & col
Slc 0 g B
R = 5 St 3
®, - o
o 2
038 [
24 ¥
' 4-M12x25 7 —HA o115
2615 ' 2565 181 \ Inlet
300 Outlet @38 208 38

261.5

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

V50GM, V70GM Remote pressure compensator with NG6 interface

NGB
Pressure adjustment

306

DEC.
Flow adjustment

o)
o)

o
[=2
w
@38 ~
4-M12x25/

300 Outlet @38 208 Inlet @38

dwnd uojsid |eixy A u

V50GJ, V70GJ Remote pressure compensator + Proportional pressure valve

; 306
Proportional pressure Pressure adjustment
¥ehie Drain port: G 3/4'122,
33
) O [17.94:8%x45 _ _
peé 1 | |80, § N
Flow adjustment 10\foclcs
L uy
\ L W
| wn
i [y} (3] &
) 1 2 [ o
b oo
e — &
1 o
¢38
| 24 \
4-M12x25 , 0115
- 2565 @ ] 181
300 __Outlet 38 208 Inlet 38
261,5

V50GR, V70GR Remote pressure compensator + Electrical unloading

O Pressure adjustment O
306 INC.
74

PEC Flow adjustment 73_| 57— Drain port:G 314" Pressure adjustment
Proportional pressure r ,:]] / (Waming: don't adjust)
valve f | 07.943%45
4 H .33 /g’ 2 % Filling port
[ 1of=si P
E. gn < I
3 8" g &, &
8 g | F /’ \ T oy ©
1 DIE'_J -’\ f?m idwas b
1 | ST
=l \Ea 6:/1 2
Pag ~ '_,,-
4-M12x25—/ 14357 - 0115
2615 256.5 Outlet ¢ 38 181 Inlet #38
900 208
2615

www yeoshehydraulic.com



YEOSHE

Dimension

V50GB, V70GB Remote pressure compensator + 2-stage pressure control

High pressure adj. O

73 Low pressure adj. ING, 74

306
Drain port:G 3/4;

DEC. Flow adjustment

Pressure adjustment

- , 39 [— - (Warning: don't adjust)
O7.94:13%%x45
57

Proportional pressure
valve

5

o
L 10fedlo
| g -
58 8
8 ol &
8| e e | g T /-
M 1 i) W [ (7
9 J _9/ — o [\ i o
_/ - s \tg g_:/J" e
038~ AL Saunt =
| 24
4-M‘12x25—/ 287 e _ o115 _
2615 2565 Outlet @38 181 Inlet @38
2615

V50GC, V70GC Remote pressure compensator + Electrical unloading + 2-stage pressure control

O 306 High pressure adj. |NC.

DEC. Flow adjustment Drain port:G 3/4" 73 Low pressure ad. 74 Pressure adjustment
(Warning: don't adjust)

33
Proportional pressure [ V] I v 1
valve q:\ \ D [07.94:5%x45
e

Filling port

=
0

Relief valve

353502

$31,75-0.025

369
369

| Fill I
I
F
5]
—te e
e |
il
#127-0.05
A\L N
1<
X
100

k!
e | | p—
24
¢M12x25-/ H357 == 0115
2615 256.5 Qutlet % 38 181 Inlet #38
2615

V50HQ, V70HQ Load-sensing compensator + Proportional flow valve + Relief valve

Low pressure

adjustment
: i High pressure
Drain port : G 3/4 INC. adjustment
421
1\ 1805 57
73 . +003
O7.94 0 %45
DEC. _ = a
Flow adjustment 33 . alf Filling port
0 ooloo
W u [=1]
L @ -
- 5 @ o 0|
= o ™ S ]
1 = o = Fo| m
: 1 P~ 1 -
| — & =
< @0 & =
104 | L2t e
Outlet ! 300 P52
314.8 Threads code 3214 181
! 10 : PT(RC) 1-1/4" T 208
40 G 1-1/4"
50 NPT 1-1/4" 3148

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Dimension

dwnd uojsid |eixy A u

V50HK, V70HK Load-sensing compensator + Proportional pressure valve + Proportional flow valve

(Warning:don't adjust)
Low pressure adjustment

High pressure

Drain port : G 3/4" adjustment
Proportional ’ 454 N\
pressure valve \ 180,5 57
DEC. 73 07.94:3%x45
Flow adjustment B 33 & Filling port
10|f _<_
d odlog
: o 8 g _
1 —| wl
o o
o § ol 1 5 [15] § g
L [) =]
eg
Sy 5|
13 -t §
' 24
104 Outiet | 300
314.8 Threads code F 3214
r 10 : PT(RC) 1-1/4" \} 3 . 134
40 : G 1-1/4" Drain port : PT1/4
50 : NPT 1-1/4" Proportional flow control 80 208
3148

V50, V70 Thru drive (SAE A #82.55, SAE B %101.6, code D or E)
02 I O Y|

MOO0O0O

13T DP 16/32

+0.08|
$10160

O—-00E00

DEC.
Flow adjustment

2-M12xP1.75

2-M10xP1.5

Links D : SAE A 82.55

Type A

E:SAEB #1016

256.5 ‘J,» 0115

INC.
306 57 Pressure adjustment
73 07.94 %45
Drain port : G 3/4" 29 i
1q/ S| o
od|oc
w| o
~| 7 T
- uw»
™) o
s
o) o
og| o
Ml = I i B
NP ( o G
k=)

b

Links D: 318
Links E: 323

CG

FG | 6 | e |em

-

() Thru drive option | ()

www yeoshehydraulic.com




Dimension

YEOSHE

V50, V70 Rear port (Please following order code no.6 add “B")
(MO —O0O00O000

INC.
306 57 Prassure adjustment
Inlet %!‘Jllet':I il DEC. 73 Ero
reads & Flow adjust t 5
10 PTRO) 1122 10: PT(RC) 14147~ | Drainport: 6 34" |~ 3 Tl 74, Filing port
40 G 1-1/2" 40: G 1-1/4" 10 g o I'—‘
50 NPT 1-1/2" 50 : NPT 1-1/47 b colog
EE
o 8 =31 Lt 3
R b D co| o
(3] ] u.':_ -— r +‘0 =
a m]: L og| 8 o
' D e is S : Z =
| o : Ak
269 |24 o115
357 Axial port 295 5 181
& Pipa code B : Axial port 300 2615
357
Type | a|B|c|cr|ce| D |oc| e |ec| F|Fo| 6 |ei|am|HL |HK HQ |
OThudiveoption | O |O|C|O|O|O|O|0|O|0|O|O|O]|O]O]
V50, V70 Splined shaft type V50, V70 Inlet / outlet
555 Outlet Inlet
10
o 57 32 35,7 i 32 |.
- 1
i} o =2
= @ ]
— oq w (7=
S E=H <@@
s : 7
—1 Threads code Threads code
. 10: PT(RC) 1-1/4" 10 : PT(RC) 1-1/2"
229 40: G 1-1/4" 40: G 1-1/2"

455

S: 14T DP12/24

50: NPT 1-1/4"

50: NPT 1-1/2"

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



Pump combination

 vseios

A Pump 1 | V15 (V18) | V23 (V25) | V23 (V25) | V3B (V42) V38 (Vv42) | V38 (V42) | V50 (V70) | V50 (V70) | V50 (V70)
‘Pump 2 | V15 (V18) | V15 (V18) | V23 (V25) | V15 (V18) V23 (V25) | V38 (v42) | V15 (V18) | V23 (V25) | V38 (v42)
A G 3/8” G 3/8” G 3/8” G 3/8” G 3/8” G1/2” G 3/8” G 3/8” G1/2”
B G 3/8” G 3/8" G 3/8” G 172" G1/2” G2 G 3/4” G 3/4” G 3/4”
C 57.45 57.45 61 57.45 61 73 57.45 61 73
< D 35.1 35.1 52.4 35.1 52.4 58.7 35.1 52.4 58.7
E E 35.1 25.1 26.2 35,1 26.2 30.2 35.1 26.2 30.2
P F 35.1 52.4 52.4 58.7 58.7 58.7 69.9 69.9 69.9
Q) G 351 26.2 26.2 30.2 30.2 30,2 35.7 35.7 35.7
T H M8x20 M8x20 M10x16 M8x20 M10x16 M10x16 M8x20 M10x16 M10x16
-9_ I M8x20 M10x16 M10x16 M10x16 M10x16 M10x16 M12x25 M12x25 M12x25
ﬂ 1 147 147 170 147 170 179 147 170 179
(@) K 147 170 170 179 179 179 256.5 256.5 256.5
= | i 332 369 402 378 401 410 464 493 502
- M 382 419 455 428 454 465 515 546 555
(el N 43 48 i | 48 51 48 i 51
3 0 48 51 51 51 51 51 73 73 73
= P 6 9 9 9 9 9 10 10 10
Q 4,76x32 6.35x40 6.35x40 6.35x40 6.35x40 6.35x40 7.94x45 7.94x45 7.94x45
R 13 14 14 14.5 14.5 14.5 24 24 24
S 319.05 ©22.22 @22.22 322.22 322,22 @22.22 @331.75 @31.75 @31.75
T 21.15 25.08 25.08 25.08 25.08 25.08 35.35 35.35 35.35
U ?82.55 @101.6 ?101.6 ?101.6 @101.6 @101.6 @127 @127 @127
vV @25 @25 @25 031 @31 @31 @38 @38 @38
w 225 025 @225 @31 231 @31 038 @38 238
X 106 146 146 146 146 146 181 181 181
Y 131 146 146 160 160 160 208 208 208
Z 165 182 182 198.6 198.6 198.6 261.5 261.5 261.5
Al 44 39 39 39 39 39 74 74 74
A2 32 312 31.2 31,2 31.2 31.2 40 40 40
A3 2 5 5 ) 5 5 8 8 8
A4 84 110 110 121 121 121 119 119 112
A5 I1 13.5 125 13.5 135 13.5 18 18 18
A6 44.5 58.5 58.5 58.5 58.5 58.5 57 57 57
A7 160 193 193 210 210 210 2335 233.5 2335
A8 91.5 93 93 1135 113.5 113.5 1335 133.5 1335
A9 60 68 68 72 72 72 100 100 100
Pump 2 Pump 1 O
Drain pori B i i) AB INC.
O N Al Pressure adjustment
DEC. Filling port
Flow adjus-lment DQ:BUS
— — | [ BE 3 2
— [ 5P
o L i / | < h 2
£ Olf [heiH
La o \ M H 2
0 T
E G R / X
J K Outlet I 1 Inlet W
v \_Inlet W
£ Z
M

www yeoshehydraulic.com




YEOSHE

Pump combination - coupling

Piston Pump

_FA_bm -
~:1,' - N | o o
O € [Em1+— O —]
;_EE _— o O
' \.
Gear Pump _ E/'
@ e Coupling \— Adapter
shaft
Pump 1 Pump 2
No Couplin
Model Model @A Shaft Bong
15-1 V15,18 Piston pump: V15~18, AR16~22 SAE @ 8255 aT 16/32 DP COUP-V15+15
Gear pump: HGP-3A
2341 Piston pump: V15~-18, AR16~22 SAE A @82.559T 9T 16/32 DP COUP-V23-1
23-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP ' COUP-V23-3
23-5 3 e . Vane: F30,F40,PV2R1 | Cylindric @19.05°4.76 COUP-\V23-5
s ' | Piston pump; V23~25 SAE B ©101.6 | Cylindric 322.22'6.35 ———
Vane pump: T6C Metric @100 Cylindric @22.2274.76
23-3B 13T 16/32 DP COUP-V23-3
38-1 Vane pump: T6C SAE A @82 55 9T 16/32 DP | COUP-V38-1
38-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-V38-3
38-5 Piston pump: F30,F40,PV2R1 Cylindric @19.05"4.76 COUP-V38-5
Piston pump: V23~25, V38~V42 SAE B @101.6 | Cylindric ©22.22°6.35
38-6 V38 V42 ) — COUP-V38-6
’ Vane pump: T6C Metric @100 Cylindric ©22.22°4.76
38-7 Piston pump: PV016~023 Cylindric ©25.4*6.35 COUP-V38-7
38-3B Vane pump: PV2R2 13T 16/32 DP COUP-V38-3
38-4 15T 16/32 DP COUP-V38-4
70-1 Piston pump: V15~18, AR16~22 SAE A @82.55 ' 9T 16/32 DP COUP-VT0-1
70-3A Gear pump: HGP-3A Vane pump @95.02 13T 16/32 DP COUP-VT0-3
70-5 | Vane pamp: F30,F40,PV2RA Cylindric @19.05'4.76  COUP-V70-5
Piston pump: V23~25, V38~V42 Cylindric @22.22°6.35
70-6 V50, V70 sion pump s o yf ' COUP-V70-6
! Vane pump: T6C Metric @100 Cylindric §22.22*4.76 |
70-7 Piston pump: PV016~023 Cylindric §25.4%6.35 COUP-VT0-7
== Vane pump: PV2R2 . 13T 16/32 DP COUP-V70-3
70-4 | 15T 16/32DP COUP-VT0-4
@A @ Adapter @ O-ring
SAE A @8B2.55 23A-83-D G80
Vane pump ©95.02 23A-B3-G G95
SAEB@10186 23A-83-E G100
Metric @100 23A-83-J G100

dwnd uoisid [eixy A ﬂ

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



dwnd uojsid |eixy A u

Pump combination - coupling

Depending 2nd pump to use snap ring or not

(e : With snap ring)

©oupling @snapdng | Piston pump: Gear pump: HGP- |Vane pump: F30, Eocew
V15~18, AR16 3A F40

COUP-V15+15 R13 . ° ° -
COUP-V23-1 R13 ° . -
COUP-V23-3 R20 ° -
COUP-V23-5 R20 ® M5 x8
COUP-V23-6 - M5 x8
COUP-V 38-1 R13 ° -
COUP-V38-3 R20 -
COUP-V38-4 - --
COUP-V38-5 R20 ® M5 x8
COUP-V38-6 = M5 x8
COUP-V38-7 - M5 x8
COUP-V70-1 R13 . =
COUP-V70-3 R20 >
COUP-V70-4 = -
COUP-VT0-5 R20 o M5 x8
COUP-V70-6 - M5 x8
COUP-VT0-7 - M5 x8
(3 O-ring G55
(@)Pin 28x16 x2 nos
(5)Screw M8x30 x4 nos

www yeoshehydraulic.com




B oo

YEOSHE

Pump combination - thru drive dimesion

V15,V18

dwnd uoisid [eixy A ﬂ

{©
F
V23~V70
L
L2 M
J
P O
i ___— Adapter s E
Pump 1  |[EB—r—y % —+ P
_ G - = = % C
o @ o
_l._ p— - - - - II
= /@
i 3 £
D
F
Model | 2nd Pump BA B . @C D E F G
V15,V18 SAE A »82.55 8.35 - -- - 106.3 M10xP1.5
SAEA | @8255 8.35 @127 | 89.8 | M10xP1.5 | 106.3 | M10xP1.5
vo3-v70l SAEA [ 81016 10 2127 | 89.8 | M10xP1.5| 146 | M12xP1.75
Metric 100 10 @125 88.39 | M10xP1.5 140 M12xP1.75
Vane Pump| ©95.02 8.35 - 90 M10xP1.5 | -- -
Model K H J M L L2
V15,V18 33 13.5 9T 16/32DP -- 185 -
V23,V25 59 13.5 9T 16/32 DP| 32 237 205
V38,42 66 20 14T M1.25 | 32 241 209
V50,V70 64.4 22 13T 16/32DP| 32 332 300

YEOSHE product specifications are subject to change with prior notic.

Copyright@2021-YEOSHE-ALL RIGHT RESERVED.



dwnd uojsid |eixy A u

www .yeoshehydraulic.com

Pump combination - thru drive dimesion

 vseios

=

View A

Pump 1 V15, Pump 2 V15

()

Pump 2 Pump 1
i DEC.
/' A3 Pressure adjustment
DEC. N O . A8 q 10025
. Drain port A Drain port B P 5 g »
Flow ad I -
justment 4‘3—\ - Filling port
1 8 2
CIN? oo =
i [y 4 Sl e o
fl: ¥ 3 F9 2
B o < <
H e S !
L i o e O s R = = L 45/ {[) ¢
@ = > 2 o
—li _—l—‘ <
H ] i 152 ] M
LG R X
J K
LA Outlet V Y Inlet W
L Lz
M
View B
Punp1 V23~V70, Pump 2 V15~V38
il
\
Pump 2 Pump 1 Bt
( \ Pressure adjustment
DE({/ Drain port A N Drain port B @ o A3
Flow adjustment o ® | aig™ Filling port
\ ﬁ 9 <
' I g @&
= " 9 99
Lyl
= [ R I — At R 7E 2
© e @[ e @ 8 = h “]
B an) == g L | = R .
e M —F D f
\}} A 7 ¢ =K 9()
A Byt
Bl NE-1N _‘ R /’ \
: A A K Outlet \V / Vinlet W




Pump combination - thru drive dimesion

YEOSHE

Pump 1 Pump 2 A B & D E F G H |

V1518 | V15V18 | G 3/8" (RC3/8") | G3/8" (RC 3/8") | 57.45 | 35.1 | 351 ‘ 351 | 35.1 | MB8xP1.25x20 | MB8xP1.25x20

V23,V25 | Vi5V18 | G3/8" (RC3/8") | G3/8" (RC3/8") | 57.45 351 | 351 524 | 26.2 | M8xP1.25x20 | M10xP1.5x16

V23,25 | V23,v25 | G3/8" (RC 3/8") | G 3/8" (RC 3/8") 61 ‘ 524 | 26.2 ‘ 524 | 26.2 | M10xP1.5x16 M10xP1.5x16 <

V38, v42 | VI5V18 | G3/8"(RC3/8") | G1/2"(RC1/2") | 5745 351 | 3511 587 | 30.2 | M8xP1.25x20 | M10xP1.5x16 }

V38,\V42 | V2325 | G 3/8" (RC 3/8") G 1/2" (RC 1/2") 61 524 | 26.2 58.7 | 30.2 | M10xP1.5x16 M10xP1.5x16 E

V38,V42 | v38V42 | G1/2" (RC1/2") | G 1/2"(RC 1/2") 73 | 587 | 30.2 587 | 302 | M10xP1.5x16 | M10xP1.5x16 QO

v50,V70 | V15,V18 | G3/8" (RC 3/8") | G 314" (RC 3/4") | 57.45 ‘ 35.1 | 351 ‘ 69.9 | 35.7 | M8xP1.25x20 | M12xP1.75x25 'C_5

V50,V70 | V23,v25 | G 3/8" (RC 3/8") | G 314" (RC 3/4") 61 - 524 | 26.2 - 69.9 | 35.7 | M10xP1.5x16 | M12xP1.75x25 9-).-

V50,VM70 | V38,v42 | G1/2" (RC1/2") | G 3/4" (RC 3/4") 73 ‘ 58.7 | 30.2 - 69.9 | 35.7 | M10xP1.5x16 | M12xP1.76x25 g
o

Pump 1 Pump 2 J K L LA | LB M N |D|P Q R S i u 5

V1518 | V15V18 | 147 147 332 | 185 - 382 | 48 | 48 | 6 | 4.76x32 13 | @19.05 2115 | @B2.55 o]

V23.V25 | Vi15V18 | 147 170 | 384 | 237 - 32 | 41 | 48 | 51 ' 9 | 6.35x40 14 | @¢2222 | 2508 | @101.6

V2325 | V23,25 170 | 170 | 407 | 237 | 32 | 455 | 51| 51 | 9 | 6.35%d0 | 14 P2222 | 2508 | @101.6

v38Vv42 | V15V18 | 147 | 179 ‘ 388 | 241 32 | 438 | 48 | 51| 9 | 6.35¢40 | 145 $2222 | 2508 | ©101.6

V38, v4z | V23 V25 | 170 179 | 411 | 241 | 32 | 464 | 51 | 51 9 | 6.35x40 | 145 | ¥2222 | 25.08 | #101.6

V3 v42 | v3gv4z2 | 179 179 " 420 | 241 ' 32 | 473 | 51 | &1 ' 9 6.35%x40 | 14.5 | @2222 2508 | ©101.6

V50 V70 | VISV18 | 147 | 256.5 | 479 | 332 32 | 529 48 | 73 | 10 | 7.94x45 | 24 | @31.75 | 35.35 @127

V50,V70 | V23,V25 | 170 | 2565 | 502 | 332 | 32 | 555 | 51 | 73 | 10 | 7.94x45 | 24 | #3175 | 3535 | @127

Va0 v70 | vagv42 | 179 | 256.5 511 | 332 - 32 | 564 91 | 73 ‘ 10 | 7.94x45 | 24 | #31.75 | 35.35 @127

Pump 1 Pump 2 V W X o i Al | A2 A3 | A4 A5 AB A7 A8 A9

V1518 | vVi5Vv18 | @25 @25 106 | 131 165 44 | 312 | 5 84 1 445 | 160 91.5 60

V23.V25 | VI5V18 | @25 P25 146 | 146 182 39 [ 31.2 5 110 | 136 | 58.5 193 93 68

V23,V25 | v23Vva25 | @25 25 146 | 146 182 39 | 312 5 110 | 135 | 585 193 93 68

V38,42 | VI5V18 | @31 #31 146 . 160 . 1986 | 39 | 31.2 5 121 | 135 | 685 210 113.5 72

V38,42 | V23 V25 | @31 @31 146 | 160 | 1986 | 39 | 31.2 5 121 | 1356 | B8.5 210 113.5 72

V38,v42 | v3gv4z | D31 P31 146 - 160 - 1986 | 39 [ 31.2 - 5] | 121 | 135 | 585 210 - 113.5 72

V60, V70 | V15V18 | @38 D38 181 | 208 | 2615 | 74 40 | 8 | 119 18 57 2335 | 133.5 100

V&0,V70 | V23V25 | 738 038 181 | 208 ‘ 2615 | 74 40 ‘ 8 | 119 18 57 2335 ‘ 133.5 100

Veo,v70 | V3B V42 | @38 738 181 ‘ 208 ‘ 2615 | 74 40 ‘ 8 | 119 18 57 233.5 ‘ 133.5 100

Copyright@2021-YEOSHE-ALL RIGHT RESERVED. (EN



YEOSHE HYDRAULICS CO., LTD.
YEOSHE BEST CHOICE

Innovative Technology

Efficient Performance

Reliable Quality and Service

HE B EEBER-AIT
YEOSHE HYDRAULICS TECHNOLOGY CO.,LTD.
413 HEEHHEEEET —K685%

No.68, Wugong 1st Rd., Wufong Dist., Taichung City, Taiwan, 413
TEL : +886-4-23332339 FAX : +886-4-23333817 E-mail : yeoshe@yeoshe.com.tw

SR IR Dongguan TEL ¢ +86-769-85965158 FAX @ +86-769-81635359 E-mail i yeoshe@yeoshe.com.tw
g8t R Shanghai TEL  +86-21-69785786 FAX : +86-21-69785787  E-mail : yeoshe@yeoshe.com.tw

44T Distributor

www.yeoshehydraulic.com

hRAEFRE BRENLF
Copyright © 2021 by YEOSHE



	V-E
	0001
	0002
	0003
	0004
	0005
	0006
	0007
	0008
	0009
	0010
	0011
	0012
	0013
	0014
	0015
	0016
	0017
	0018
	0019
	0020
	0021
	0022
	0023
	0024
	0025
	0026
	0027
	0028
	0029
	0030
	0031
	0032
	0033
	0034
	0035
	0036
	0037
	0038
	0039
	0040
	0041
	0042
	0043
	0044
	0045
	封底2021-CO

